[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

q

0.8

Ratio

R AR T LRI BRI

0.6

[EnN
2
N
=
o
N

—a— DIV VUUU
(Eend = B0
Efficienq —— BQM-VE00

N 0.1:
Y SRR O S N
n E : : : : :
Y1) SRS USRS SOOI SRRSO S0 8
> F . . . . .
2 E : : : : :
90'07;- SR SRR acaceacdaeaceact St
o F : : : :
10T 2 11 RSN RO N
(3] E : : : :
0.05F{f-++ 5| deeeeves by
0.04F R N ;
0.03f SR S 1.

F . : X
0.02%- 1 EREREE Eeeeeens 1 i
0.0% 4114 b semacaritht

AANE il :

9 q:: P P I I Y A I |l| PRI B A || P
§ i i
0.8+ A HH{TEH Tl THIN
x | [+ ]‘ L E
-30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
1S
=0.04
$.035
2y
c 0.03
@
8.025
(0]
0.02
0.015
0.01
0.005ff

Q..

i

..............................

..............................

&
b
-
-
-

e

.........................

Ratio

0.8

0.6

100 15 20
Sim. PV z (cm)

I
o
o= 3

- [
o
[(6)]



	Contents
	Page 1


